Imperfect active subjunctive

JHDMDOC?R?”STEREGELFZC
?GADCFKSHEMSUM?SSOPT

ESJIMCK?EF

SA?P?SES?G? ERLPNOQOQRRS
OPFMSR?”GROSRJI?VR?B ?7?

VRCBTL®?BSS

RV W

URPVUSENTRMEMBAU?TMN

EGOUMETIENUN?AVB I

N T V

?RHZ?NNMKZRTTTAHWEPE

vV ? L SERAOTQ?” ?RHAM

EHHSRYVN
ESRSJEZBD

REDCYY?2?U®?EET

ETOFZRBRNRG
NDPLDDMTETE

FR?? NDPE

TGLEGEREMMLMGS? ? NNTR

S RMYEZ?

SBR?”ENJPMGFWK?®?LEAVYVT

Z ?7 FTRXTM?R?T

I
UTNEZSSEWS

XMCEESAGEFCZMPOSSET
DDSSWTSE?LSQMCEORJHL
POWGSAPER?RENTIKPRDAOQD

TOESNGSJIRY

PGFPMEDOC? RENTJIWI JITU

ID ESSE T? ESSE

T? ?RE

ID ?RE

EGO ESSE

EGO ?RE

EGO POSSE
V?S ?RE

T? POSSE
N?S ESSE

N?S ?RE

D POSSE

D LEGERE
D AM?RE

EGO AM?RE
N?S POSSE

T? AM?RE

EGO LEGERE
ID HAB?RE

D VEN?RE
D DOC?RE

EGO DOC?RE
T? DOC?RE

N?S LEGERE

ID APER?RE

EGO VEN?RE
T? HAB?RE

V?S LEGERE N?S VEN?RE

EGO IUV?RE

EA (THEY N.) ?RE EA (THEY N.) ESSE

V?S VENDERE

EA (THEY N.) DOC?RE

EA (THEY N.) AM?RE

EA (THEY N.) POSSE
EA (THEY N.) IUV?RE

EA (THEY N.) VENDERE

EA (THEY N.) HAB?RE

EA (THEY N.) APER?RE
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